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(1) x=20&,E&y=2Tx =60 Xy=-2Th 5,

Q= _2=-2 F=-X* & . Y=-x+ k4
Z -5 - 2=-2+e
=y
(2) ZLDEED2Tx=-1DL 2y =4TH 3,
7=2X+ 0~ L Y=2X+ b
= -2+ &
L= b
(3) 7'9 7 DX HR3TH(=2,-3)%iE3,
d=3xt 28 L4 =3x+3
—3=-b+ o
L p= 3
(4) 777 7 05(=2,-16) L Ki(3,14) % 5,
1B T 1y- (-16) Y= bx+ & L F =Xy
5-(-2) O i¥=ip+e
b= Y
(5) x=—1D L Ey=—11T, x=4DL Ey=4Th 3,
20N y— (=11) F=3X+ L o Y=3x-§
Vo) 3 #=12t e
L e=-g
(6) ZLDEIAN-1Tx =20 Xy =11TdH 3,
%=—7C"’@~ =—X + /3
= =2+ &
8= 13

(7) 779 7HMEE -2 CHA5)%2ES,

#=-21X+ 28~ Y =-2x+3
5=-8+ &
o ek=13
(8) 7/'7 7 (=28 H(1,5)%ES,
1R = P 5.‘=—/+‘e,_
/_{_2)——/ b= b
Jd=-X+ 2 Sd=-xé
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